





























I’'m thinking of a
number 0-999.

Everyone has one guess.




The ones digit is
(‘6”




The ones digit is
“6”
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I’'m thinking of a
number 0-999.

Everyone has one guess.
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The hundreds digit is
(‘2”

6




The hundreds digit is
“2”

6
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I’'m thinking of a
number 0-999.

Everyone has one guess.

6
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The tens digit is
“9”

6
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The tens digit is
“9”

6

2
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I’'m thinking of a
number 0-999.

Everyone has one guess.




The hundreds digit is
(‘7”




The hundreds digit is
(‘7”
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I’'m thinking of a
number 0-999.

Everyone has one guess.

7




The tens digit is also
(‘7”

7




The tens digit is also
“7”

7
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I’'m thinking of a
number 0-999.

Everyone has one guess.

r 7




The ones digit is
“O”

[ 7




The ones digit is
“O”

O
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I’'m thinking of a
number 0-999.

Everyone has one guess.




The tens digit is
“5”

>


































I’'m thinking of a
number 0-999.

Everyone has one guess.

S




The ones digit is
“6”

>




The ones digit is
“6”

6
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I’'m thinking of a
number 0-999.

Everyone has one guess.

6
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The hundreds digit is
“O”

>
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The hundreds digit is
“O”

>

6
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The hundreds digit is
“O”

>
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